
Figure S1 Trace plot, Density plot and convergence diagnostics 
plot for Network Meta Analysis
The number from 1 to 10 in the title of trace plot, density plot and convergence diagnostics plot represents 
ten different treatments: 1 represents Afatinib; 2 represents Chemotherapy; 3 represents Dacomitinib; 4 
represents Osimertinib; 5 represents SoC; 6 represents SoC+Apatinib; 7 represents SoC+Bevacizumab; 8 
represents SoC+Chemotherapy; 9 represents SoC+Mono−chemotherapy; 10 represents SoC+Ramucirumab. 
PFS: progression free survival; OS: overall survival.
a. PFS in all patients; b. PFS in patients with 19 del mutation; c. PFS in patients with 21L858R mutation; 
d. OS in all patients; e. OS in patients with 19 del mutation; f. OS in patients with 21L858R mutation
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